Multiplications à trous



          Complète les opérations.1


 8 x 7 = 56   
8 x 9 = 72  
4 x 11 = 44   
7 x 11 = 77   
56 = 7 x 8
99 = 11 x 9 
81 = 9 x 9  
33 = 3 x 11   
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            Complète les égalités.
15 x 3 = 45
3 x 12 = 36
20 x 5 = 100
33 x 3 = 99
54 = 3 x 18
72 = 12 x 6
120 = 10 x 12
16 x 3 = 48
5 x 17 = 85
4 x 25 = 100
4 x 42 = 168
4 x 50 = 200
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            Complète les égalités.
17= (3x 5) + 2
77= (6x 12) + 5
38= (5x 7) + 3
49= (9x 5) + 4
55= (7x 7) + 6
58= (7x 8) + 2
44= (7 x 6) + 2
39= (4 x 9) + 3
80= (11 x 7) + 3
71= (7 x 9) + 8
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             Complète les égalités.
38= (6 x 6) + 2
55= (9 x 6) + 1
69= (8 x 8) + 5
95= (10 x 9) + 5
47= (6 x 7) + 5
100= (12 x 8) + 4
75= (8 x 9) + 3
105= (11 x 9) + 6















